CN #55/24 ww%f(b 20153/414

Q§§i e For T > 0.3 (% pro coslund, b nd A o -

do [MPUSGTO andT-ene h o= h - -5 0,2

e dal %/ro\—@w‘co AU Loa46 (SU‘M,O\EL) v dediice g
0.2 2% i b&/\no " Mﬁ‘éo J‘D’\Cm\p " &ﬁ—e/r 5U\~€M-Q/r-(
EL, & EL_-MAx [ dne @ A umtT=eado del

me ccoomnvio  dl v Uo el Jpcxmo)

__E{)._" b «;i\,‘ C()xuc,hﬁ : 5 ()= - x (t)

\t x (o) = < : ) oe orte]
-10

o =oluzlow x (t] = e_mb[ ’(1

10

» ee x(o) = M[-;o‘] + (5 [ 42)] allora !

X () =




soluzione

0.20 ; ; ; ;
0157 -~~~ oo el el Tt d -
L
e
0.00 = =" — -
-0.057%1 fffff - - - -4 - 1T Xedy-ud) |
| | | xe(@)-U(2)
0107 1 2 3 4 5

Problema: dx/dt = A x, x(0) = x0

Procedura: LMV_eulero_pv
EL_MAX = 1.000D-02
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Errore totale massimo = 1.587D-01

Numero passi = 103

Passo:
minimo = 3.563D-03
medio = 5.568D-02
massimo = 3.556D-01
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Errore totale massimo = 4.556D-02

Numero passi = 831

Problema: dx/dt = A x, x(0) = x0 Passo:
minimo = 3.516D-04
Procedura: LMV_eulero_pv medio = 5.416D-03

EL_MAX = 1.000D-04 massimo = 3.452D-01
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Errore totale massimo = 3.686D-02

Numero passi = 146

Problema: dx/dt = A x, x(0) = x0 Passo:
minimo = 1.875D-03
Procedura: LMV_eulero_imp_pv medio = 3.857D-02

EL_MAX = 1.000D-02 massimo = 6.000D-01
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Problema: dx/dt = A x, x(0) = x0

Procedura: LMV_eulero_imp_pv

EL_MAX = 1.000D-04
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Errore totale massimo = 4.328D-03
Numero passi = 1304

Passo:
minimo = 2.344D-04
medio = 4.541D-03
massimo = 6.000D-01
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Problema: dx/dt = A x, x(0) = x0

Procedura: LMV_eulero_imp_pv
EL_MAX = 1.000D-05
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Errore totale massimo = 2.018D-03
Numero passi = 4575

Passo:
minimo = 4.297D-05
medio = 4.808D-04
massimo = 1.027D-01



